y SN

Mist \—ROIFZERDAFITHA R
AP61

.
&

S1Z =Y NI—=J 2%t
2022458 Ver 1.1

' JUNIPES =&

seivenbyMist AT 0.




[dUsIC

S RNZa17)UE, TAP61] OB I AEICDVWTERBALE S

% ¥ (Hardware Installation Guides) ([ TFEEUILDTHERLIZEL)

https://www.mist.com/hardware-installation-guides/

* MBICHEZED Mist BARENZ27)%Z [Y)1—-23> & FIZHIIVIGERYA B (C/EL THEDFT

https://www.juniper.net/ip/ja/local/solution-technical-information/mist.html

. NIPES <1
© 2021 Juniper Networks Juniper Business Use Only Jy.wmugx [ | 2


https://www.mist.com/hardware-installation-guides/
https://www.juniper.net/jp/ja/local/solution-technical-information/mist.html

AP61

— % 1/0 Port M3iREA

© e I/0 Port ShEA
4 ¢ Eth1 10/100/1000BASE-T RJ45 >4—J1—2
Y Y EthO+PoE In 10/100/1000BASE-T RJ45 />4—J1—2XR
802.3at PoE PD
El . -3
LED/Jty 5> TIHBHERET JAI NEEADULTY S
@ .' ————————————— 1
MIW: 5
I S———

4 -E--.u‘----- L

Eth1 Eth0+PoE In LED/Reset

. UNIPEr -t
© 2021 Juniper Networks Juniper Business Use Only Jm.‘mwml o WY | 3



AP61 MHWD{T

— XNy

/77

/4y

FEIJSovh  T=FEIISH =fJ 54y . M8x80 Screw Bolts x 2 Wood Screw x 4
TERTSvh WERT vk ol Sk ph 4

S é qg © S RT2 X9 MIEXINTL— R T2> Y

MSBXZO Screw  Nutx1 M6x16 Screw x4  M6x10 Screw x4  Washerx8 Spring Washer x 8
tsx1

. ol
© 2021 Juniper Networks Juniper Business Use Only JHQ!-E.EII’ | 4



AP61 MHWD{T

— XUYNI Sy e ERUERE

Step 1

XNI> )5y MER

Step 1
AP61 (C RT2 YU~ Mt&E
XN TV— 7> VDS ES

) o
© 2021 Juniper Networks Juniper JH.Q!-E.EII’ | 5



AP61 MHWD{T

— XUYNI Sy e ERUERE

Step 2

Step 2
BEFI(IR—)UC TEBLT S5y M BT E T

Step 3
AP61 % TFEIT S5y NCEDATFI3EF T
BEENTERE TlE. 6.3mm OXRSZERL TSN

Step 3

XEEOEINS0.8mm LA EDOR—ILYI> N
HEIDHEE(E. M8x80 ML MefERL TR—ILNYI> b
3y MCERDASFIF TIZE W

XM= IUCERE T BBR(E M8x90 ML, Fyb Dviv—ZFERLT
N— )L BT EIE, T RHEAY (CERDAT 1 TIZE 0

4D I\/\—Xﬁ**‘\@t—c 35mr;n LXJ: 80mm */ﬁ
g E.E(c—_lﬁlibig{ DIN=ILANDEDAT 375
unperg® | e

© 2021 Juniper Networks Juniper Business Use Only



AP61 DEWD{IT

— J3v2aNI> RISy bk

EEENIAHARIIN N=ILXI> MNRR=RI3> TR

Juniper Business Use Only

oneera |7



AP61 DHID{TIF

— Jov2aXI> NSy M ERURBEADRE

Step 1

Step 1
BE(CADDNZRV. 7oh—ZBALFT
2ADXSZEDATFFEI N XS Z2FTTR(THTHRVTIZEW

Step 2
7292 aNI ISy AP61 (CERDfSI3ET
AP61 FEDTIZvSaXI> NIy e
BEEDXDICHDMT. FICASA ReEFT

Step 3
ROD2ARDARSZEA T, IRTORIZAHDET

IS

| 8




AP61 MHEWD{T

— B4+ AP J35v> x> N5y M ER U=V D> MOEDAT 13

Step 1

Washer Step 1
Spring Washer R—=2D5>T% T39I NIy NCERD S 3£ T
AL TIISYVS NI NI Sy N AP61 (CEDfFIET

Step 2

. I3y aNI> NI Sy he AP61 (CERDfTITES

i S J3v2aX9I> NI 50y N BEDR S (CEDAF T, FICASA REEET
& REICRSAN—-ZERLTHFDET

MNR=2RT =23V DFRERIEEEI18 AWG U1V T
IV RHRRTI DL EBEIDLET

. UNIPEr -t
© 2021 Juniper Networks Juniper Business Use Only Jm.,.wmmnx [}l | 9



B iR

BIRATS3> 802.3at PoE

T AP61: 310mm x 310mm x 107mm (12.24>F x 12.21>F x 4.24>F)
AP61E: 310mm x 343mm x 107mm (12.24>F x 13.54>F x 4.24>F)

s AP61: 4.47 kg (9.85 RUK)
APG1E: 4.59 kg (10.1 KVR)
EERE REB7>5F: -20°C ~ 65°C
NEBT>5F: -20°C ~ 65°C
B}ELE BEAHEIEE 10% ~ 90% fEE=RU
BESE 3,048m (10,000 J1—K)
AT EthO - 10/100/1000BASE-T EI&H4&L: R1-45 (PoEAIE)
Eth1 - 10/100/1000BASE-T EI&8H4&: R1-45
RF 2.4GHz - 4x4:4SS 802.11ac MU-MIMO & SU-MIMO

5GHz - 4x4:4SS 802.11ac MU-MIMO & SU-MIMO
2.4GHz / 5GHz HEIRAFY>
4TI T7>57F7LAf4E 2.4GHz BLE

PHY L—b Bit&A PHY L—b - 2,533Mbps
5GHz - 1,733Mbps
2.4GHz - 800Mbps

12204 22T —5ALED

© 2021 Juniper Networks JUﬂIPer.-F

Juniper Business Use Only servan vy Mist AT | 10



PRaIE

AP61 )—X D AP #8s ([C(&. 1FRIOMREE (BIPRMTE) MIBLTVET

AN RER

BtER
AP61-US E5ME Wi-Fi 8&0 BLE 7LA AP - KEFRHI KX > THIA
AP61E-US E45HA Wi-Fi &U BLE LA AP - KEFRH RXA>THIA SHE7>7FETIV
AP61-WW B9 Wi-Fi 8&U BLE 7L AP - World Wide ARl KX > THIF
AP61E-WW ES+H Wi-Fi 8&U BLE L1 AP - World Wide A7 RX/>THIF S 887>7FET I
5108
SP-01 =By NF—2T0O5795
APOUT-BR1 / APOUTBR-ART [E4 AP AZEIEINT> b~
APOUTBR-FM E5+ AP FIDJ3v>axI>h

AP61 Rm(C[E. FEINYIY NS0y bRy MEENTVET
7392 MY MIBIEEX TEET
© 2021 Juniper Networks

oneera® | on

Juniper Business Use Only



